
  B
e

to
n

C
2

0/
2

5
 (

B
2

5)
  S

ta
l

3
4G

S
S

t0
S

-b
  O

tu
lin

a
c

no
m

=
15

+
5

=
2

0 
m

m

12

12

16

16

23
2

15
6

23
5

12
3

30
35

8
25

25

90

73

157
29

17

N
r5

N
r6

N
r1

   
Ø

12
  l

=3
53

0
32

77

25
7

1
49

°

N
r2

   
Ø

12
  l

=4
16

7

681

1
21

°

67
8

15
8

24
27

25
7

1
49

°

N
r3

  
 Ø

12
  l

=
1

91
1

16
68

24
7

1
49

°

N
r4

  
 Ø

12
  l

=
2

11
9

204

59
6

15
8

97
5

24
7

1
49

°

Ø
12

 c
o 

19
0 

(N
r1

+1
+2

)

N
r3

, 
N

r3
, 

N
r4

 c
o

 1
90

9x
 1

74
/2

90

p
o

z.
 3

.4
 -

 s
ch

od
y 

że
lb

et
o

w
e 

- 
p

ły
ta

 g
r 

16
cm

+
0

,0
00

+
1

,5
70

W
yk

a
z 

zb
ro

je
ni

a

D
łu

g
o

ść
 c

a
łk

o
w

ita
 [m

]

N
r

Ś
re

d
n

ic
a

D
łu

g
o

ść
L

ic
zb

a
S

t0
S

-b
3

4G
S

p
rę

ta
[m

m
]

[m
m

]
[s

zt
.]

Ø
10

Ø
12

p
oz

. 
3

.4
a

 -
 s

ch
od

y 
że

lb
e

to
w

e 
- 

pł
yt

a 
gr

 1
6

cm

1
12

35
30

5
17

,6
5

2
12

41
67

2
8,

33

3
12

19
11

5
9,

56

4
1

2
21

19
2

4,
24

5
1

0
13

10
14

18
,3

4

6
10

27
60

11
30

,3
6

D
łu

g
o

ść
 c

a
łk

o
w

ita
 w

g 
śr

e
d

n
ic

[m
]

48
,7

39
,8

M
as

a
 1

m
b

 p
rę

ta
[k

g/
m

b
]

0,
61

7
0,

8
88

M
as

a
 p

rę
tó

w
 w

g 
śr

ed
ni

c
[k

g]
30

,0
35

,3

M
as

a
 p

rę
tó

w
 w

g 
g

at
u

nk
ó

w
 s

ta
li

[k
g]

30
,0

35
,3

M
as

a
 c

a
łk

o
w

ita
[k

g]
66

U
W

A
G

A
: 

D
łu

go
ść

 p
rę

ta
 je

st
 d

łu
go

śc
ią

 o
bl

ic
zo

ną
 n

a
p

od
st

a
w

ie
 w

ym
ia

ró
w

 w
 o

si
 p

rę
ta

 (
m

e
to

d
a

 B
 w

g
 P

N
-E

N
 I

S
O

3
76

6:
20

06
)


